N & 0l & AF S & M M

S RS = Faig=a i,
Yy MSNE 245
ool MSTE 84 N CER-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
bR E=galgeainly 29,369,309 20,231,914 9,137,395
s 1,380,000
J| 3,781,934
< 934,312
Al 23,273,063
Hseds 243 9,075,191 8,424,193 650,998
J| 721,934
< 923,832
Al 7,429,425
ASXE 84 X2 4,798,594 4,356,108 442,486
< 162,240
Al 4,636,354
Hsdssyd 28 23X 6,880 6,880 0
201 Lete H bl 2,880 2,880 0
01 At 22l 2,880 2,880 0
OF=nE2XHsUHa RIS HA=E S 2,880
203 PR =&l 4,000 4,000 0
03 Al R =X QIR =Xt 4,000 4,000 0
OAZ HSHA 22 L o 4,000
MEFE MUXNEN 23 61,055 56,746 4,309
301 LEEXZ 61,055 56,746 4,309
12 JIEtEA S 61,055 56,746 4,309
OF=3=P [ [EFSEIPNEP; 56,094
O = HEA 1,919,000 x2H x12& 46,056
02N X=¢ 50,0003 x 1 128 600
@ W SH| 200,000 x2H 123 4,800
( JSESE= 1,919,000& »2H 3,838
@ E S 0tHl 200,000& x2H +23| 800
0O=0HZIEES 1,919,000 x2H 128 x4 . 5% 2,073
OAHLEEEE S 1,919,000 x2H «12& %3.23% 1,488
OBIQUYBEEZRE = 1,488,000& *8.51% 127
OLEEE=zRYS3
1,919,000 x2H «12& x1.55% 714
OdMEE= 1,919,000 x2H x12& x1.213% 559
A¥zsEIR 29 1,696,276 1,630,379 65,897
301 LEHF 1,696,276 1,630,379 65,897
Vo=t - 2SRESELS 1,696,276 1,630,379 65,897
OSH(HNE2SZIIR AE) 1,177,032
OCHER2SZIIR = AJNREH| 100,000
OXAZ(HE2=EIR) 1,500,000& 402 60,000
OFEHES(NE2sZIR)
300, 0003 x22F x23| 13,200
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S RS = Faig=a i,
M gdE 243
oelr ASHE 84 X GEERED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
ou =l 2,150,000 x22H 47,300
OUSIEdH(RE2SEIR)
70,0003 x22H x5 43 30,800
OFXEUH (REHSSHIIR)
70,0003 x22H x40 61,600
ORMIBH (NFR2SHIIR)
2,000,000 x4H 8,000
O=XZQAE 800,000& 22X 17,600
OEAZ(AE¥2sEIR) 6,000,000 x9H 54,000
O2ASFEES 1,177,032,000& *4.5% 52,967
OIAZEEHRE S 1,177,032,000& *3.23% 38,019
OLQEILRABEHSFEE S 38,019,000 +8.51% 3,236
OnsE=2sEz=RY3 1,177,032,000& *1.55% 18,244
OMNMEERE S 1,177,032,000& *1.213% 14,278
NE2sZIRd g4 29 2 Fdl KA 303,600 303,600 0
201 L2l 263,600 263,600 0
01 At 22l 195,600 195,600 0
Og=a 1,100,000& » 128 »30H & 39,600
o=l 720,000& x10& «18H 129,600
©2+AlH| 120,000 »10& »22H 26,400
02 8323l 68,000 68,000 0
03223 % HA 24,000
0= 500,000 x 122 34 & 18,000
QAR S8E 500,000& »12& 6,000
OA4&EbHl =Xl 44,000
OAMNOIZERES 72 10,000, 000& *23| 20,000
@t - Hdetl| 500,000 »4CH =123 24,000
405 XH&HE S HI 40,000 40,000 0
01 AL EFHSHI 40,000 40,000 0
OXNF2SHINIZ(A0IZER) MOIS 2L 40,000
NE2sFITE 2N 57,000 60,000 A 3,000
< 57,000
301 LBENZ 57,000 60,000 A 3,000
< 57,000
o=t - 2SRES243 57,000 60,000 A 3,000
CHERSZIIR 2Y 57,000
< 57,000
dFAM=EE 28 X3 777,000 761,000 16,000
307 izl & 762,000 746,000 16,000
03 RIZIEH B HE2HHIEX 762,000 746,000 16,000
OFFAM=ES 298 XN 762,000
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S RS = Faig=a i,
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g MsdsE 84 XY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OfRAdE EFnY 2F 20,280
< 6,040
Al 14,240
ORad =103 17,000
< 17,000
ORA2d =304 NN =2 7,200
< 7,200
SHe =2el1 29 90,000 90,000 0
307 glztol & 90,000 90,000 0
02 QB HUANFEE 90,000 90,000 0
OENE2 =221 2¢ 90,000
Y93 AT ANESA 90,000 0 90,000
< 45,000
Al 45,000
307 21201 A 90,000 0 90,000
< 45,000
Al 45,000
02 QItFAAHE X 90,000 0 90,000
O¥S AT ANEI3HA 90,000
= 45,000
Al 45,000
d==HMUHa X &0 24 89 15,000 15,000 0
207 O & H] 15,000 15,000 0
01 2284 15,000 15,000 0
OF==ZHUa |X 41 24 24 15,000
FK-213 &JF X4 2435 AFY 30,000 0 30,000
< 10,000
Al 20,000
307 glz2tol & 30,000 0 30,000
< 10,000
Al 20,000
02 IZtE M AHEE 30,000 0 30,000
OFK-cl 1 &It Z& 243 AtY 30,000
< 10,000
Al 20,000
=iz 24 XA 2,149,975 2,163,555 A 13,580
< 497,000
Al 1,652,975
HFAIZH M| d==203 3,600 3,600 0
307 21201 A 3,600 3,600 0
04 QIZFHALAIH B = 3,600 3,600 0
OHM18al MFAITH MEMS d=U=U3 3,600
HEAZH MEHs 8STHAAUE 4,500 4,500 0
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g MsdE 2435
2 M 29 X (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 4,500 4,500 0
04 DI2HHALALSE E X 4,500 4,500 0
OHM9E MFAZH HEHT ESXNHEAHUS 4,500
A=A MEHS 8= IER=UE 7,000 7,000 0
307 eIzl & 7,000 7,000 0
04 QIZFHALAIH E = 7,000 7,000 0
OHM198] EFAIZH MEHE 82 FIER=
hal 7,000
dFAITH MEHE =403 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
04 DI2HHALAISE E X 5,000 5,000 0
OHM6a MFAZH HEHE =22 U3 5,000
HFAIEH MEHs SOYLYRFEILICICHE 8,550 9,500 A 950
307 21201 A 8,550 9,500 A 950
04 QIZFHALAIH E = 8,550 9,500 A 950
OHM133l HF=AIEH H&X=s 208 &R EH
CICH 3l 8,550
S=AZH MEHSE H24 AE2UE 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
04 QIZFHALAIH E = 5,000 5,000 0
ORM253 M=AIZH MEHF 24 HNOES
thal 5,000
HF=ATH dEH=S det2Es20HE 5,000 5,000 0
307 gl2tol & 5,000 5,000 0
04 DIZHHALALSE E X 5,000 5,000 0
OHN62 MFAZH H&H| D=0 5,000
SFAIEH s 8= 320U 6,300 6,300 0
307 glz2+ol & 6,300 6,300 0
04 QIZFHALAIH 2 = 6,300 6,300 0
OM163 H=AIZH MEHS A= 2ct0l
23l 6,300
SF=AZTH dEH=E FSI2Ue 5,000 5,000 0
307 gl2tol & 5,000 5,000 0
04 DIZHHALALSE E X 5,000 5,000 0
ORMB8al HFAHHH HEHMST =I13U2 5,000
H=AZH MEHSE =&4AIRANIEEWS 9,000 9,000 0
307 glz2+ol & 9,000 9,000 0
04 QIZFHALAIH B = 9,000 9,000 0
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3 NENE 243
?el =i 29 X

SN SAGEA) - MRALY - BES 0l &k o4 il Hl D&
OM72 HFAHH HEMS =&AI18H0132
R el 9,000
SF=AZTH dEHS AFAAUE 8,550 8,550 0
307 21201 & 8,550 8,550 0
04 DIZHHALALSE E X 8,550 8,550 0
OM1458 HF=AZH MEMI AFAUE 8,550
HdFAEH dEHs 8= S A0EUH 9,500 9,500 0
307 glz2tol & 9,500 9,500 0
04 QIZFHALAIH E = 9,500 9,500 0
OM162 H=AIZH HEHS d= S5 A
AOITE U2 9,500
SF=AZTH MEM= BHECIEWS 9,500 9,500 0
307 21201 & 9,500 9,500 0
04 DIZHHALALSE E X 9,500 9,500 0
OM30&8 MFAlZH MEMS HHEC S S 9,500
H=AZTH dEHSE 832 HEE2E s2Ua 9,400 9,400 0
307 21201 A 9,400 9,400 0
04 QIZFHALAIH 2 = 9,400 9,400 0
OM172 d=AIZH MEHS d=0Us S W
Sgs2UE 9,400
SF=ATH HEH= SO0E0IH 5,000 5,000 0
307 gl2tol & 5,000 5,000 0
04 DIZHHALAISE E X 5,000 5,000 0
OM72 HFAZHH HEHMS SOEOIUZ 5,000
H=AZH MEXM=E LIH3ZU3 5,000 5,000 0
307 glz2+ol & 5,000 5,000 0
04 QIZFHALAIH B = 5,000 5,000 0
OM73 MFATH MBH=E UHHIZSZUS 5,000
HFAIZH M| AJRAEEMS 16,000 16,000 0
307 glztol & 16,000 16,000 0
04 QIZFHALAIH B & 16,000 16,000 0
OHM153 HF=AITH HEMF 28 A 2N
3 16,000
HF=AZH MEXHS AAAIHUSE 4,500 4,500 0
307 glz2+ol & 4,500 4,500 0
04 QIZFHALAIH B = 4,500 4,500 0
OHM72 HF=AZH HEHs A22ALAIHUS 4,500
HFAZH M| == 6,000 6,000 0




2A: MsAS D
M Neds 2435
@2 dA=x0s 29 N (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
307 212t01 & 6,000 6,000 0
04 QIZHSHAFAIE 2 X 6,000 6,000 0
OM133 HF=AI&H MEME =ZUHI 6,000
HFAIEH MEHE 832 72U 9,500 9,500 0
307 QI2t01 ™ 9,500 9,500 0
04 QIZESHALAIE B2 X 9,500 9,500 0
OHM223 MF AL MEME 82 22U 9,500
HdFTAIEH MEHSE 8= =3 FEI2UI 10,000 10,000 0
307 QI2t0| ™ 10,000 10,000 0
04 QI2tSHALAIE E &= 10,000 10,000 0
OM178 dF=AIEH MEHE 8= £ FF
H3l 10,000
HFAIEH MEHs d2A=220 280103 4,500 5,000 A 500
307 QI2t01 ™ 4,500 5,000 A 500
04 QIZISHALAIE B2 X 4,500 5,000 A 500
OHM16a HFAIEH MEHs MdA=E2U =4
JItHal 4,500
MFTAIEH MEHES 8= AU 5,000 5,000 0
307 212t01 & 5,000 5,000 0
04 QIZHSHAFAIE 2 X 5,000 5,000 0
OM213 HF=AI&H MEME =2 AU 5,000
HFAIEH MEHM=E A=A 5,000 5,000 0
307 QI2t0| ™ 5,000 5,000 0
04 QI2tSHALAIE E = 5,000 5,000 0
OHM4s HM=ANTEH HEMES WHA=ZHS 5,000
HFAIEH Selotet MEHXT AU 10,000 13,600 A 3,600
307 QI2t0| ™ 10,000 13,600 A 3,600
04 QI2tSHALAIE E &= 10,000 13,600 A 3,600
OHM253] MFAIEU Rt MEY AU
3| 10,000
HFAIEH MEHSE dAaE SHUEY Z&4US 5,000 5,000 0
307 QI2t0| ™ 5,000 5,000 0
04 QI2SHALAIE E &= 5,000 5,000 0
OHNB83 HM=AXHH MdEMs F44E SEUE
ZAUS 5,000
HFTAIEH MEME 85 ZLASOEHS 5,000 5,000 0
307 QI2t01 ™ 5,000 5,000 0
04 QIZISHALAIE B2 X 5,000 5,000 0




2AM: Mo
=ds

M MEdE #4358
2 M 29 X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OHM16a HFAIZH MEHS S ZAHEOE
thal 5,000
d=AIEEE 2ItU 3l 5,000 5,000 0
307 gl2tol & 5,000 5,000 0
04 DIZHHALALSE E X 5,000 5,000 0
OHM33 M=AIZH RItUS 5,000
HFAIEH 85 Ol=HLIAMS 6,000 6,000 0
307 glz2tol & 6,000 6,000 0
04 QIZFHALAIH E = 6,000 6,000 0
OHM158] EFAIEH &= Ol=HL AN 6,000
HF=AZH MEXHSE HAATXS 4,500 4,500 0
307 21201 A 4,500 4,500 0
04 QIZFHALAIH B = 4,500 4,500 0
OMN7sl MFAITH MEHMS HAALX[ 3 4,500
S NE2 A d2U3 2,000 2,000 0
307 21201 A 2,000 2,000 0
02 QItFAAHE X 2,000 2,000 0
OUESZH NS dFAl dEUa 2,000
HEEW NEY dMet=sE: Jd2iig &d 3,000 3,000 0
307 gl2tol & 3,000 3,000 0
02 IZHEHAHE L 3,000 3,000 0
OUHESZt NEZ MUsEE HdLUHs && 3,000
HF=AEI A2 2381 =& U3 6,000 6,000 0
307 glz2tol & 6,000 6,000 0
04 QIZFHALAIH E = 6,000 6,000 0
OHM128] 8FAIEI| 82 381 =& O
T3 6,000
dFAIEHE 2aUsl 4,500 5,000 A 500
307 glz2tol & 4,500 5,000 A 500
04 DI2ZHHALALSE E X 4,500 5,000 A 500
ON183 HFAIZH AU 4,500
A=A =S=70s £ EL2ESEHUE =720 17,500 12,500 5,000
=
307 gl2tol & 17,500 12,500 5,000
04 DIZHHALALSE E X 17,500 12,500 5,000
OHM243 MF=AEH =S50z £ H9d AH
AEHZEUE =102 17,500
HFAEI L HdFAEH EHEE WS 9,000 9,000 0




A MAYL

Yy MSNE 245

G A=z &9 JH (2 &HH)
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
307 2Iz2to| & 9,000 9,000 0
04 SIZ2ISHAAIH E & 9,000 9,000 0

OHM273 MFAIEI & Hi173 dFAEEH &
H=& U3 9,000

HFAIED] SAHL T 5,000 5,000 0
307 212t0| & 5,000 5,000 0
04 SIZ2ISHAAISHE E X 5,000 5,000 0

OM73 HF=AIXEI SA&UHE 5,000

HFAIZE 203 6,000 6,000 0]
307 2iz2to| & 6,000 6,000 0
04 SIZ2ISHAAIHE E & 6,000 6,000 0

OHM93l MF=AIEH HRCHS 6,000

HFAIZE 2403 5,000 5,000 0
307 QI2t0| ™ 5,000 5,000 0
04 QIZ2tSHALALS B = 5,000 5,000 0

O LHEHAE =2 L HY178 dFAIEH =
AlCH 3 5,000

MF=AIEH &A= O0IBIS U3 20,000 20,000 0
307 2iz2to| & 20,000 20,000 0
04 QIZ2tSHAFAFS B X 20,000 20,000 0

OHM153 MFAIEH &= OotOtHIS O & 20,000

HMF=AEE s2UE 8,100 9,000 A 900
307 QI2t0| & 8,100 9,000 A 900
04 CIZ2tSHALALS B = 8,100 9,000 A 900

OHM183 E=AIZH =303 8,100

HFAZE A2LE S350 EFR[He & 2 4IER 12,500 9,500 3,000

3l
307 2izto| A 12,500 9,500 3,000
04 QIZ2tSHAFALS B X 12,500 9,500 3,000

OHMZ27a MFAIEH 8=32E 5352 203
L HEMNERUF 12,500

HFAEH SE=U3 6,000 6,000 0
307 2Iz2t0| & 6,000 6,000 0
04 SIZ2ISHAAIH E & 6,000 6,000 0

O MP243 ME=AEE SE=03 6,000

HFAZED| EHE S 5,000 5,000 0
307 gizto| & 5,000 5,000 0
04 CIZ2tSHALALS B X 5,000 5,000 0
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=

&
M MEdE #4358
2 M 29 X (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OHM23sl 8FAIEI| EHAZHZ 5,000
H=AZH & S BHILIACE 7,500 5,000 2,500
307 2Iztol ™ 7,500 5,000 2,500
04 DI2FHALAISE 2 X 7,500 5,000 2,500
OM27al MFAIEH X M172 Sl FHHEILA
Ch 3l 7,500
H=AZH BHECIEH S 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
04 DI2HHALALSE E X 5,000 5,000 0
OHM108 E=AIZH HHECIE 3 5,000
HFAIZTH SEUE H2US 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 QIZFHALAIH B = 10,000 10,000 0
ORM242 M=AIZH SEUHE BH2U2 10,000
H=AEI ER0U3 9,000 9,000 0
307 21201 A 9,000 9,000 0
04 DIZFHALALSE E X 9,000 9,000 0
OHM283 MFAEI H5F2US 9,000
d=AIEE =S U3 6,000 6,000 0
307 gl2tol & 6,000 6,000 0
04 DIZHHALALSE E X 6,000 6,000 0
OHM163 MZ=AIZH =ZU3 6,000
HFAIED S44U3 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
04 DI2PHALAISE E X 5,000 5,000 0
OHM3s MF=AIZEI S&US 5,000
HZ=Al [(Ot01)-210 =2U3 30,000 22,230 7,770
307 21201 A 30,000 22,230 7,770
02 QB LA EX 30,000 22,230 7,770
OF=Al 1(0t0)-2l0 s U3 30,000
d=EANM0IHEUS =8 5,000 5,000 0
307 Qiz2tol & 5,000 5,000 0
02 It S AHE L 5,000 5,000 0
OM32s d=dMOtetENs & 5,000
S SR 2 7,000 7,000 0
307 gl2tol & 7,000 7,000 0
02 It HAMHE L 7,000 7,000 0
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2AM: Mo
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M MEdE #4358
2 M 29 X (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
oO&=E HEdaXss A 20,000
d5 ME3Als =A 4,000 4,000 0
307 glz2+ol & 4,000 4,000 0
02 RIZFEA MM E X 4,000 4,000 0
O&= HMZZdHls &H 4,000
H=AZH S350 ksl 6,000 6,000 0
307 21201 A 6,000 6,000 0
04 QIZFHALAIR B = 6,000 6,000 0
OHM11g M=AIEH Sz oF2U3 6,000
SF=AEH Hd & REREMEANINEZSUHE 5,000 5,000 0
307 2201 A 5,000 5,000 0
04 DIZHHALALSE E X 5,000 5,000 0
OM153 EFAIEH e L FRAZAHOES
=l 5,000
meel Ax=gol 249 2,700 3,000 A 300
307 21201 A 2,700 3,000 A 300
04 DIZFHALALSE E X 2,700 3,000 A 300
omgel AXZ=go ¢ 2,700
dFAIBIS HAES A8 2| 25 2,700 3,000 A 300
307 gl2tol & 2,700 3,000 A 300
04 DIZHHALALSE E X 2,700 3,000 A 300
OFEF=AIRS A2 RS EHI 23 2,700
elE0E X3 30,000 30,000 0
307 glz2tol & 30,000 30,000 0
02 RIZFE MM E X 30,000 30,000 0
OXF2pe|SOoF2E X 15,000
OdF=RAFNNRE X2 15,000
d=20ct2E=2s &M 2,000 2,000 0
307 gl2tol & 2,000 2,000 0
04 DIZHHALALSE E X 2,000 2,000 0
OXd=c42E=2Z03 &H 2,000
d=0HE=E20Us &H 2,500 2,500 0
307 glz2tol & 2,500 2,500 0
04 DI2FHALALSE E X 2,500 2,500 0
Od=ULE=EUE &H 2,500
H=2E FHHAZ=HS 275,000 250,000 25,000
< 75,000
Al 200,000




S RS = Faig=a i,
Yy MSNE 245
2 M 29 X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 275,000 250,000 25,000
= 75,000
Al 200,000
04 DI2HHALALSE E X 275,000 250,000 25,000
OE=22E ZMEHAZUHS 275,000
< 75,000
Al 200,000
M= CEeletelttetE S 190,000 200,000 A 10,000
< 90,000
Al 100,000
307 glz2+ol & 190,000 200,000 A 10,000
< 90,000
Al 100,000
04 QIZFHALAIH B = 190,000 200,000 A 10,000
Od=gCLoletolitetEN gl 190,000
< 90,000
Al 100,000
Ol SHl M30t0tHIS =AU E 35,650 35,650 0
= 10,000
Al 25,650
307 21201 A 35,650 35,650 0
< 10,000
Al 25,650
02 SIZtE S ALHE L 35,650 35,650 0
OHM225| Ol SHl M=0I0tHtS& =23 35,650
< 10,000
Al 25,650
H=22II=0t2tEWH S 35,000 35,000 0
= 15,000
Al 20,000
307 glz2tol & 35,000 35,000 0
S 15,000
Al 20,000
04 QIZFHALAIH E = 35,000 35,000 0
OM198 8=R2IZ0dEUS 35,000
= 15,000
Al 20,000
SOHASRLIBI| HISMA0I 2T 85,000 80,000 5,000
< 15,000
Al 70,000
307 21201 A 85,000 80,000 5,000
= 15,000
Al 70,000
04 QIZFHALAIH B = 85,000 80,000 5,000
OHM493 22 RE2I| d=stHAM0IZ2
Ch3l 85,000




AN MSAS B
3N MedE 24
gelr stz 29
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 75,000
Al 70,000
MF=S=20l2 M=2HEE U 50,000 50,000 0
== 15,000
Al 35,000
307 2Iz2t0| A 50,000 50,000 0
= 15,000
Al 35,000
04 SIZ2ISHAAIH E & 50,000 50,000 0]
OM123 HMF=&=30ls AIZUHECIEHUS 50,000
& 15,000
Al 35,000
dFs=20s d24H =52 =23 78,000 78,000 0
& 13,000
Al 65,000
307 giztol A 78,000 78,000 0
& 13,000
Al 65,000
04 CIZ2tSHALALS B X 78,000 78,000 0
O&d=s=20I2 d=2dd 32 BHF2U3E 78,000
= 13,000
Al 65,000
HEE20IS BRE2US 60,000 60,000 0
< 5,000
Al 55,000
307 212t0| & 60,000 60,000 0
=} 5,000
Al 55,000
04 SIZ2SHAFAISHE E X 60,000 60,000 0
OMb3l dEst=20ls 8=2=3203 60,000
& 5,000
Al 55,000
HdFE=20l2 AZXZE0|U=SSAHHE 35,000 34,500 500
& 5,000
Al 30,000
307 2iz2to| A 35,000 34,500 500
= 5,000
Al 30,000
04 QIZ2tSHAFAFS B X 35,000 34,500 500
O N33 dMFst=20s AX=2210|Y =504
3| 35,000
&< 5,000
Al 30,000
MF=E=20I2 M=HISsUI 40,000 40,000 0
& 20,000
Al 20,000




S RS = Faig=a i,
Yy MSNE 245
2 M 29 X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 40,000 40,000 0
< 20,000
Al 20,000
04 DI2HHALALSE E X 40,000 40,000 0
OHM4sl M=5t=20t2 dIHISUI 40,000
< 20,000
Al 20,000
HESEgsote dI2A=40H3 30,000 30,000 0
< 10,000
Al 20,000
307 glz2+ol & 30,000 30,000 0
< 10,000
Al 20,000
04 QIZFHALAIH B = 30,000 30,000 0
O0=gseite d=2=aU3 30,000
< 10,000
Al 20,000
dE HOISZH dEds 330857203 15,000 15,000 0
< 5,000
Al 10,000
307 21201 A 15,000 15,000 0
< 5,000
Al 10,000
04 DIZHHALALSE E X 15,000 15,000 0
OHM33 HMF= HOIS2ZUH MENE EF=04S
-3l 15,000
< 5,000
Al 10,000
S MRAFALSALS 37,000 37,000 0
= 12,000
Al 25,000
307 21201 A 37,000 37,000 0
< 12,000
Al 25,000
04 QIZFHALAIRH B &= 37,000 37,000 0
OM143 2/ &HH E=AAANL=ZUE 37,000
< 12,000
Al 25,000
gl d=222Uzal 105,000 65,000 40,000
< 30,000
Al 75,000
307 gl2tol & 105,000 65,000 40,000
< 30,000
Al 75,000
04 QIZFHALALH 2 = 105,000 65,000 40,000
OHM3bs HsgEI) d=2=8U3 105,000
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< 30,000
Al 75,000
=H 3= 1SSt A3 70,000 60,000 10,000
< 20,000
Al 50,000
307 glz2tol & 70,000 60,000 10,000
< 20,000
Al 50,000
04 DI2HHALALSE E X 70,000 60,000 10,000
OHM62sl =H d= ZnsSstn A=W 70,000
< 20,000
Al 50,000
d=HLF 2 AFAEI dIHEHS =S 35,000 0 35,000
< 10,000
Al 25,000
307 glz2tol & 35,000 0 35,000
< 10,000
Al 25,000
04 QIZFHALAIH B = 35,000 0 35,000
OFFHYF M595 L H22sl HEAZI A
=dgdUd3 =03 35,000
< 10,000
Al 25,000
dEANSH dIHAATIS L SEHH MEMS 25,000 0 25,000
HAAT X3
< 15,000
Al 10,000
307 21201 A 25,000 0 25,000
< 15,000
Al 10,000
04 DIZHHALALSE E X 25,000 0 25,000
OdENSH MIHAAZXNG L S M
EHs HAAZ X3 25,000
< 15,000
Al 10,000
OtAIOtH 2 =2 TH 3 60,000 0 60,000
= 60,000
307 21201 A 60,000 0 60,000
< 60,000
04 QIZFHALAIR B & 60,000 0 60,000
OXM123] OtAlIOtHE & =213l 60,000
< 60,000
MEH=S JtHoIE A=0{0{LIBHTH= 32,000 0 32,000
= 32,000
307 glz2tol & 32,000 0 32,000
< 32,000
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04 DI2HHALALSE E X 32,000 0 32,000
OMEHMSE JtUOE E=300{LIHHRTHS 32,000
= 32,000
SMs2ZRYA) dI=HEMS AU 2O 35,000 0 35,000
=
< 20,000
Al 15,000
307 gl2tol & 35,000 0 35,000
= 20,000
Al 15,000
04 DIZHHALALSE E X 35,000 0 35,000
ORM212 =aMs22REH2AI| d=UEHF
NEHE 203 35,000
< 20,000
Al 15,000
SFAAD S EH =248 AJALEEHE 20,000 0 20,000
< 20,000
307 gl2tol & 20,000 0 20,000
< 20,000
04 DI2ZHHALALSE E X 20,000 0 20,000
OXFAAINEEH E=FAE AJALBE
th=l 20,000
< 20,000
MEH=E 245 XA 2,126,622 1,904,530 222,092
J| 721,934
< 264,592
Al 1,140,096
gt MEH SIS X B 314,752 214,464 100,288
J| 142,426
Al 172,326
307 21201 A 314,752 214,464 100,288
J| 142,426
Al 172,326
02 It S AHE L 314,752 214,464 100,288
OXNEX 8¢ & HEARES 284,852
J| 142,426
Al 142,426
OXN&EX =4 29,900
24 MEXHMSXEZA BEXI 287,982 187,656 100, 326
J| 130,356
Al 157,626
307 21201 A 287,982 187,656 100, 326
J| 130,356
Al 157,626
02 QB AAFEX 287,982 187,656 100, 326
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAZ=2H0EEA XA 617,600
J| 432,320
< 92,640
Al 92,640
FHAAZ=AX0EA XA 2,560 0 2,560
J| 1,792
< 384
Al 384
301 LA S 2,560 0 2,560
J| 1,792
< 384
Al 384
01 MEIBEE 263 2,560 0 2,560
OFMAAZ=AR0IE2H XIS 2,560
J| 1,792
< 384
Al 384
NEHE AX=2SY 2N (AN EH) 25,000 40,000 A 15,000
307 gl2tol & 25,000 40,000 A 15,000
02 It S AIHE L 25,000 40,000 A 15,000
ONBEXNY AXZX2Y 29X 25,000
BFEAXXZHSI(IIEERE) 30,000 30,000 0
307 glz2tol & 30,000 30,000 0
02 It M AMHEE 30,000 30,000 0
ONFATZXZHR2Y 30,000
SIS AZXSERI (I NI NA) 30,000 0 30,000
307 glz2+ol & 30,000 0 30,000
02 QIZtE M AHEE 30,000 0 30,000
OeHIEAZ =2 HE2H 30,000
St SOHA & 34,560 26,560 8,000
J| 15,040
< 4,800
Al 14,720
301 LA F 34,560 26,560 8,000
J| 15,040
= 4,800
Al 14,720
01 Ml28E+06l= 34,560 26,560 8,000
Ot s0HA & 34,560
J| 15,040
< 4,800
Al 14,720
s 2438 20,232,342 11,745,945 8,486,397
s 1,380,000




2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Jl 3,060,000
< 10,480
Al 15,781,862
ME&sAd XA 20,232,342 11,745,945 8,486,397
s 1,380,000
J| 3,060,000
< 10,480
Al 15,781,862
38 d =4 & S 80,000 20,000 60,000
401 A& HIZ 201 Y| 80,000 20,000 60,000
01 A& HI 80,000 20,000 60,000
omaz==z =4 ¢ 2t 80,000
LHIZ2=Z& =4 50,000 0 50,000
401 A& HIZ 2018 50,000 0 50,000
01 A& HI 50,000 0 50,000
oudl=22d =4 50,000
HEAE |FX2el 190,000 175,600 14,400
201 Let24d] 190,000 175,600 14,400
02 2324l 190,000 175,600 14,400
OMSAE FX2el 9,000
OdUx=s2 MR 181,000
dF AdUds2 A 3,000,000 0 3,000,000
401 Al HIZ 201 I 3,000,000 0 3,000,000
01 A& HI 3,000,000 0 3,000,000
O&d= AUxs2 A 3,000,000
statds2 & YABINHE 23 MZ 600,000 0 600,000
s 180,000
Al 420,000
401 AIEHI L 2 CHYI 600,000 0 600,000
s 180,000
Al 420,000
01 A& HI 600,000 0 600,000
Ostdti=s2 & L =2E MY 600,000
s 180,000
Al 420,000
N2 MEdXd J0H=S 1,300,000 0 1,300,000
J| 1,200,000
Al 100,000
401 A& HIZ 201 I 1,300,000 0 1,300,000
J| 1,200,000
Al 100,000
01 A& 8l 1,200,000 0 1,200,000
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H=AES b
M= &243
HEAEAALE XS e ®H)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ON=d BELHE =0 M=dH A8 7,200,000
J| 1,200,000
02 22l 85,000 0 85,000
ONSH MHUHY VHSHE 2 85,000
03 AlE 201 | 15,000 0 15,000
ONSR MBUHY 2WHSHE A 15,000
HEMEAU(HEIS) HMSAE =4 180,000 0 180,000
401 AlEHIZ 2 0HY| 180,000 0 180,000
01 Al&EH| 180,000 0 180,000
OHYBEMEM(HIS) MSAE X4 180,000
& FOHILIE 228 ZE(SEAM) 544,000 0 544,000
401 Al HI L 2 0HHI 544,000 0 544,000
01 Al & H| 544,000 0 544,000
oOoks FUHRUE B2 =4 544,000
StHIE 201X HE A2 530,000 0 530,000
401 AIEHIZL 201 Y| 530,000 0 530,000
01 Al&H| 530,000 0 530,000
OStHIE 20 M SHE AMEEX 530,000
HSALE2SE Ald228H 853 9,165,242 9,100,345 64,897
309 =2 8,667,742 8,423,395 244 347
01 BAH- 2HINMNNEZ 8,667,742 8,423,395 244 347
OMESAE2H 2HXS 8,667,742
404 ZAMN2H2NME2 497,500 676,950 A 179,450
01 Z2Al- SHASEE=2 497,500 676,950 A 179,450
OMESAE2E AN 497,500
SEMSAIE FLotdEAH 40,000 140,000 A 100,000
401 A& HI L 2 04| 40,000 140,000 A 100,000
01 Al&H| 40,000 140,000 A 100,000
OMESANE=E: 8L ¥ 40,000
HEAL 2|24 200,000 300,000 A 100,000
401 AlEHIZL 2 0HY| 200,000 300,000 A 100,000
01 Al&H| 200,000 300,000 A 100,000
OMESAE cl2a2d 200,000
ECHHINH ANE B 1,860,000 0 1,860,000
J| 1,860,000
401 AlEHIZL 2 0HY| 1,860,000 0 1,860,000
J| 1,860,000
01 Al&EH| 1,809,000 0 1,809,000
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g s 243
g2l MsASAE XS (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OEEZZIE NE B 1,809,000
J| 1,809,000
02 2eltl 48,000 0 48,000
OFC=ZIIE ME 2= 48,000
J| 48,000
03 AlE 2 THHI 3,000 0 3,000
OEE=ZIHINE NE 2= 3,000
J| 3,000
SAMUBECEE XS 5+ E= 300,000 0 300,000
401 Al HIZ 201 8] 300,000 0 300,000
01 A& HI 299,000 0 299,000
OEHMAMUHHHEYEE XEe == E= 299,000
03 Al 2 THHI 1,000 0 1,000
OHTAUBEREE XIS 5=+ E= 1,000
LAY 24 SFZoHA 20,000 0 20,000
401 Al HIZ 201 I 20,000 0 20,000
01 A& HI 20,000 0 20,000
oYM 84 FHNMM 20,000
DEME=Y ZZALE 4X 300,000 0 300,000
401 AIEHI L 2 CHYI 300,000 0 300,000
01 A& HI 300,000 0 300,000
ONYME=E2Z XHAE & 300,000
SAOFRE AIEMHA 150,000 0 150,000
401 AIEHI L 201 150,000 0 150,000
01 A& Hl 150,000 0 150,000
O XHoF7& A&EMA 150,000
AMMBH SR OFQIR0 WA 160,000 0 160,000
401 Al HI K 2018 160,000 0 160,000
01 A& HI 160,000 0 160,000
OSIMMUENSSH AR Ho 160,000
FCYABDE 2YGIRA NS 900,000 0 900,000
= 900,000
401 Al HI L 2 THHI 900,000 0 900, 000
s 900,000
01 A& HI 868,200 0 868,200
OZEEZ=DE SYIIRA HE=> 868,200
s 868,200
02 Zeltl 30,000 0 30,000
OEEZ=ZZE SYotRAa HE=> 30,000
s 30,000
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- _ _ RE]
M- o9 (B H) - MEAY - B2 %Eﬁ HR=2
03 Al&E 201 Y| 1,800 0 1,800
ogcid="H 1,800
Fag 1,800
Lol EH D& 300,000 0 300,000
Fag 300,000
401 AlEHIZL 2 0HY| 300,000 0 300,000
g 300,000
01 Al& B 298,800 0 298,800
oAUt EHE DI 298,800
Fag 298,800
03 Al&E 201 Y| 1,200 0 1,200
oAt EHH I & 1,200
= 1,200
HOIEER S#AHAMHA(E 13,100 0 13,100
& 10,480
Al 2,620
401 AlEHIZL £ 0HY| 13,100 0 13,100
& 10,480
Al 2,620
01 Al&H| 13,100 0 13,100
OHOIE=ZE DI 13,100
& 10,480
Al 2,620
AMEH 2 OIX 350,000 0 350,000
401 Al HI L 2 0HHI 350,000 0 350,000
01 Al& H| 350,000 0 350,000
O2NMEH = & 350,000
S AZHI (MSAS D) 61,776 61,776 0
AUl (HEAS D) 61,776 61,776 0
2 (HSAS ) 61,776 61,776 0
201 et d| 31,656 31,656 0
01 AR 22l ] 26,656 26,656 0
Ogtt4f2Y| 13,600
O3 &l 13,056
02 232 4| 5,000 5,000 0]
OXtgHe] 5,000
202 04 H| 26,520 26,520 0
01 2Ll 26,520 26,520 0
oJlgge=x=4a 26,520
203 € R F=&d| 3,600 3,600 0
04 EANSIELER=E 3,600 3,600 0
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128
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